Topic 1B: Intro to Vectors and 1D Motlon
SkliJlls"/ 8 .

18. Find the horizontal and vertical displacement for each of the foIlowmg vectors (f nd the angle,“:‘ -
relative to east within the quadrant) - : : L

A. 230 m at 50 degrees (Find Ax and Ay}
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B. 115m at 30 degrees south of west (Find Bﬁ and .Bly) -
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19. As the angle between two conturrent dlc.placements mrreases from 45° to 90°, the magmtudl., g
of their resultant : .

) decreases

B) increases

C) remains the same j d K

20. A child walks 5.0 meters north then 4.0 meters east, and finally 1.0 mcters south., What is Thc SR
direction of the resultant displacement of the child after the entire walk? : |

A) 10 degrees w 3 - _\(/

B) 45 degrees dm | Sm
C) 53 degrees -\ m
D) 67 degree C——
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O 21. The diagram below represents two concurrent dlsplacements actma ona pomt Whlch vectm L "
best represents their resultant? ‘ : S T
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22. Displacements A and B have a resultant R. Disﬁlacementﬂ and resultant R are ”répréséﬁtEd in Ty L O
the diagram below. S U APTEPT S S

R

®

A

Which vector best represents displacement B? -

A) B

—————-

D)
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23. A 20 m displacement due north and a 20m dlsp!acement due east are experlenced by an ‘ ‘_,f ;"_;A _:; '

object, as shown in the diagram below.

T Reeusi o \ess%an%v»m o
and %feoévev%\om \oJ %6537 = &Q

North

East

What is the magnitude of the resultant displacernant?

A) 20m, northeast

B) 20m, southwest '«RQ: QC;\ 4+ aOm:JL
C) 28m, northeast

D) 28m, southwest (1% = \‘5 L\OOV«‘? +40om”

= R3m

24. As the angle between two displacement vectors mcreases the magnitude of the res ultzmt

displacement : Sm Ne.
z o™ R

#

B) increases " itk @
C) remains the same

-

m \§\<%g,e>

25. Which vector diagram represents the\ greatest magnitude of displacement/for an objedt? :

A) C) o im
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26. A person walks 5.0 kilometers north, then 5.0 kilometers east Hls dlsplacemc nt is closest to

(&) 7.1 kilometers northeast \ ' o ¥ S
B) 7.1 kilometers northwest i \Sem rR ‘_@é@‘_ _\)‘-\D\ﬂ \onges el
C) 10 kilometers northeast il _ S\g - »
‘D) 10 kilometers northwest Skim -

) ' - less ‘\lrm\ %w C&




